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QUESTION 1

Which two statements are correct about a VCF deployment? (Choose two.)
A. You are allowed up to four spine devices.

B. The fabric is managed as a single logical device.

C. An EX4300 switch must be deployed as a spine device.

D. You must deploy a QFX5100 as a leaf device.

Correct Answer: AB

QUESTION 2

Your company is deploying a private cloud based on OpenStack and has selected Contrail Networking as its SDN
controller. Which two statements are true in this scenario? (Choose two.)

A. Underlay tunnels are established between virtualized and bare-metal servers.
B. MPLS over UDP tunnels are supported.

C. Overlay tunnels are established between virtualized and bare-metal servers.
D. MPLS over GRE tunnels are supported.

Correct Answer: CD

QUESTION 3

Which two statements are correct about current data center designs? (Choose two.)
A. Network functions are being virtualized.

B. Public IP addresses are easy to obtain but not manage.

C. There is a proliferation of distributed applications.

D. There is a proliferation of monolithic applications.

Correct Answer: AC

QUESTION 4

You are designing a Junos-based Ethernet Fabric for a data center that has a combination of 60 EX Series and QFX
Series devices.

In this scenario, which solution would you choose?
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A. Junos Fusion Provider Edge
B. Virtual Chassis

C. Junos Fusion Data Center
D. Virtual Chassis Fabric

Correct Answer: D

QUESTION 5
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Your data center uses a Virtual Chassis Fabric. The ToR switches have 48 ports and each rack supports 20 servers.
Each server has two ports that are configured as a LAG.

You need to implement link level redundancy but you cannot use two ports on the same device for this redundancy.

Which type of connection should you use to complete this task?

A. MC-LAG
B. RTG

C. LAG

D. ESI

Correct Answer: C
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